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The dingram given below s represcntation of Y /f
the path of electrons in the light reactions of
nhotosynthesis, >‘;;
(it Give suitable names for A, B, C, Dand E. 'l \ |
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(i} What is the exact location within chloroplasis where ma vement of elecirons, as represented above
takes phw? '
(i) Whﬂl are ﬂ-.¢ pigmem mulecules located in A and B above?

(v} Wha.t is meant b} abcmrpimn spectrum of a pigment molecule?

(v}  What is meant i:y action specirum of phl]ll:ls'_'.rnthesls"

The diagram below represents major steps of Calvin cycle of phn‘tuy nthesis
@ Give suitable names for F, G, H, [ and J, ] i [}
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(i} What is the exact location at which this cyele of reactions rake place?
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i At high concentraiions of 0, lnlll.'rwmu reaition m
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Name the compounds labelled as K ang |
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) I plants m which C, photosynihesis takes place, C()
b 1

: 's nccepted hy the reaction given below
CO,+ M T * oxnloacetate ¥

LN
enzyme
Give the names of M and N

(v} Whatis the location at which this €O, acceptance takes place?

()  What are the functions of the following organelles in an eucaryotic cell?
Ribosomes
Endoplasmic reticulum

Golgi bodies i e e U e L et

Mitochondria vveemerebd SLASRRRA ISRREFRLAPE 1ARE RS R e s AR
Lysosomes i b sanardm 41541 RP 48 A e sea R bR Rk b AR

(il Mame the four major organic compounds found in living marter, indicating elements found in them
Organic compound Elements
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) Growth is a fundamental characteristic oflife, How 1s growth defined?

bt LR IRy T IR L e E AR

rrsee— T LD L LD

(i} Growth ofatissue of a multicellular organism can be divided into three phases. Explain briefly the
three phases of growih.

O I e s e 2
i) What is understood by the term ageing of cells?
fiv) State three causes for cell ageing’
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(A) (0 Why is blood considered as a specialized type of connective tissue?

) State five functions of blood pther than transpart,
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(ilij 'What are the three main types of proteins in human blood plasma?
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(iv) Name the protein that forms the blood clots in man.’
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(v) What is the range of fasting blood glucose level of a healthy adult person?
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(B ()  Whatis the average erythrocyte count in | mm’® of bloed of a healthy adult person?

(i) In the human adult what is the site of erythrocyte production?

{iif) Name the hormone that stimulates erythrocyie production in man,
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() Srate two features of human erythrocyte that promotes carriage of oxygen.
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(v} How is carbon dioxide transported in bload?
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{iv  Identify the blood cells labelled as A. B and € in

each of them the above diagram and state one main function of
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How is the surface area for ab&umlinn mereased in the small Iﬂll‘-'l!lnual"".l'
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Which is the most abundant granular leucocyte in man?

What is the main function of human blood platelets?
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| (v) Name amosquito borne disease that could be diagnosed by taking a blood platelet count?
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oo ) What is a blood pigmem?
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(i} Name twa iron containing blood pigments.
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iy What are the blood pigment of crustaceans?
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(iv) How many moelecules of oxygen combines with a molecule of haemoglobin?
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(¥) Why is carbon monoxide considered as a respiratory poisoa?
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& {A) Inanexperiment fo determine the wate
series of sucrose solutions of &iﬁ‘ermtl _
scope and the percentage of plasmolysis in eac
below, A table giving values of solute potent
provided

h was counted. The results are plotted in the graph gi
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()  According to the r:;.ulu of the experime
incipient plasmolysis?
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r potential, pieces of Rhoeo cpidermal tissue were immersed in a
molarities. After one hour they were examined under the micro-

ven

ial of sucrose solutions of different molarities is also

¢ what is the molarity of the sucrose solution causing
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() What is the solute potentisl of the sutrose salulion eaising incipient plasmolysivy

i) What would be water potential of the epidermal cells af incipient plasmalysis?

(iv)  What would be the water potentinl of the epidermal cells immersed in sucrose solution of ;)

et ity™
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) I the value of solute prtential of the shove cells immersed in sucrose solution of 0.1 motar,

lawer, higher or equal to their water potential?
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(B (i) Mame the pathways of moment of water from sof solution to inner cortical cells of a root and define

eath of them.
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fii} Which one of these pathways is urvailable for movement of water through endodermis?
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{iv) What is the advantage 1o the plant of blocking this pathway at endodermis?
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fv) Name four Factors that are impartant for movement of water up in the stem of a tall tree.
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Gy ) MName Nive external Bactors that affect the rate of transpiraticn from plant shoots.
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iy Name three internal factors that affect the rate of Iranspiration
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fir  Indicate two advantages of transpiration to plants,
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op Indicate five adaptations by plants 1o ruduce the rate of tranypiration
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o (il wihat 1s the carbohydrate that is transporied through the pholem??

iy What are the cells which load this carbohydrate into sieve tube elements of phloem?

Name the macroelements, needed for plant growth, ather than C, H and © and give one function of

fiii
anch of them in the plant

E bememi Funclion

L A} i Approximately how many years ago. the
{a)  Originoflife .
(b) Colonization of land by plaRs s
¢y Colonzation ofland by animals  ccumeneenins N

fallowing events look place on earth?

(dy  Originof man
{e}  Extincrion of dinosaurs e i gmam e

fiil  Name the phylum that contains dipiob lastic animals.
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} above and name an animal that belongs to

i) Name the three classes of the phylum stared in (A (il

each of these classes
Animal

P T e = "‘ TR
(iv) What is the advantage of giving 8 scientific name 1o a species”
®) () In pest management what IS known 83
()  economic injury level .

jemnlalind

(b)  cconomic threshold level P —— "
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(i}

(i}

(iv)

i)

(i)

(rid}

(iv)

(ii)

(iif)

(iv)

What are the factors that aifect the gconomic injury level?
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What s mennd by fnlegrated pest imanngement?
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What is the main importance of integrated pest management?

MName the insect pest that causes ‘dead heart' disease in paddy,
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Ta which Order does this pest belong?

What type of mouth parts does this pest have?

State four methods that can be used to control this pest.
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What is meant by environmental pollution?
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Name the major pollutant that may be found in the effluents of sach of the following factories.

(a)  Leather factories ..o
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N Answer four guestiony only

Give clearly labelled diagrams where necessary
{Each question careles 15 marks)

Describe the primary structure of a dico

. L tyledonous plant si i . -
the functions of different tissues. piant stem as seen in a transverse section, explaining

Explain how secondary thickening of dicotyledonous stem takes place and describe the secondary
structure of 8 mature stem as seen in a transverse section,

What are the major factors that determine the distribution of forests in Sri Lanka?
Describe the distribution and characteristic features of tropical rain forests in Sri Lanka.
Explain the importance of conservation of forests.

Explain the theory of biochemical evolution of life on earth.

Describe the importance of DNA in the maintenance and evolution of life.

Briefly describe the gross structure of the human ear.

Briefly explain the mechanism of hearing in the human ear.

Explain briefly the role of microorganisms in the following.

(a)

Extraction of copper from low grade metal ore.

(b} Pathogenicity.

Write short notes on

()
(b)
{e)

Structure and functions of proteins in living cells.
Ex-situ conservation of species.

Gastric juice.



